Sr.	District	City	Department	Name of Municipal Body		Company of the Company	Carle Constant	of the state of			Point (B)) Present Status	part of the second of the
No.					Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present regard Plantation Con	ding n/ Green	User	Maintenance done by Govt./RWA/ other	Agency Deputed for Maintenance
	Market J								No. of Shrubs	No. of Trees			
1	Kapurthala	Phagwara	Local Government Punjab	Municipal Corporation Phagwara	Shyama Prashad Mukherjee Park, Town Hall, Backside Municipal Corporation Office	Not Tracable Yet. Forwarded to Revenue Department	72.56 x 36.59	2655	220	30	Public	Govt.	N/A
2	Kapurthala	Phagwara	Local Government	Municipal Corporation	Gandhi Park, Opposite Municipal Corporation Office	Not Tracable Yet. Forwarded to Revenue Department	85.37 x 51.83	4424	318	32	Public	Govt.	N/A
3	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Park Backside Fire Brigade Office Municipal Corporation, Phagwara	Not Tracable Yet. Forwarded to Revenue Department	30.49 x 19.66	600	0	7	Public	Govt.	N/A
4	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Park Near Commissioner Office Municipal Corporation Phagwara	Not Tracable Yet. Forwarded to Revenue Department	18.29 x 9.15	167	27	12	Public	Govt.	N/A
5	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Park Opposite Health Department Office Municipal Corporation	Not Tracable Yet. Forwarded to Revenue Department	12.2 x 12.2	149	21	0	Public	Govt.	N/A
6	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Phagwara Guru Nanak Pura Park	Not Tracable Yet. Forwarded to Revenue Department	29.73 x 24.09	716	85	11	Public	RWA	Guru Nanakpura Welfare Society
7	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Model Town Park Near 72-C	Not Tracable Yet. Forwarded to Revenue Department	36.59 x 28.66	1048	65	6	Public	RWA	Model Town Welfare Society
8	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Model Town Park near Commissioner Residence	Not Tracable Yet. Forwarded to Revenue Department	48.78 x 25.61	1249	90	16	Public	RWA	Model Town Welfare Society
9	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	Model Town Park near 65-B Model Town	Not Tracable Yet. Forwarded to Revenue Department	48.78 x 36.59	1785	360	25	Public	RWA	Model Town Welfare Society
10	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Model Town, Near 23-A	Not Tracable Yet. Forwarded to Revenue Department	9.15 x 36.59	335	36	8	Public	RWA	Model Town Welfare Society
11	Kapurthala	Phagwara	Local Government		Model Town, near Cooperative Bank	Not Tracable Yet. Forwarded to Revenue Department	65.85 x 16.77	1104	32	20	Public	Govt.	N/A
12	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Labor Colony, Maini Park	Not Tracable Yet. Forwarded to Revenue Department	38.11 x 46.65	1778	11	29	Public	Govt.	N/A
13	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Labor Colony, Tubewell Wala Park	Not Tracable Yet. Forwarded to Revenue Department	38.11 x 13.72	523	10	9	Public	Govt.	N/A
14	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Labor Colony Park near Vivek Sharma Residence	Not Tracable Yet. Forwarded to Revenue Department	33.54 x 20.43	685	10	6	Public	Govt.	N/A
15	Kapurthala	Phagwara	Local Government		Labor Colony, Industrial Areas Park with tubewell and tank	Not Tracable Yet. Forwarded to Revenue Department	103.66 x 35.67	3698	0	250	Public	Govt.	N/A

M

	Point /C) Encroachment De	teile		am 18/-1-	To get entire information up			Position of	Status of	Suggestions for remedial
	Point (C	.) Encroachment De	Calls		on Web	site of District Administration	on Web	osite of Municipal Body	Per Capita Green Cover	Adequacy	measures required to be taken for proper use, development,
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded			maintenance, protection and improvement of such green areas/parks /green belts
No Encroachment done	N/A	N/A	N/A	NIL	No	Letter being forwarded to District Administration for uploading the information on its Website. Information will be uploaded within 10 Days	No	http://mcphagwara.net/	1.07 Sqm.	Not Adequate	More Vacant areas like Schools, Community Places, Road side Berms and Road centre Verges to be brought under Green Cove
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL -	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				

.

by

Sr. No.	District	City	Department	Name of Municipal Body		A CHARLE SCHOOL SECTION	-	The same sets	1 1 1		Point (B)	Present Status	
	is in		A 120 1	west server	Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present regar Plantation Con	ding n/ Green	User	Maintenance done by Govt./RWA/ other	Agency Deputed for Maintenance
	Para de la Serie	e markey	the state of						No. of Shrubs	No. of Trees			
16	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Industry Area, Park near Canal	Not Tracable Yet. Forwarded to Revenue Department	56.1 x 20.43	1146	0	55	Public	Govt.	N/A
17	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Onkar Nagar Park Street No:3 Khothra Road	Not Tracable Yet. Forwarded to Revenue Department	19.51 x 17.38	. 339	0	21	Public	Govt.	N/A
18	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Guru Hargobind Nagar Park Near Novelty Sweets	Not Tracable Yet. Forwarded to Revenue Department	32.32 x 39.63	1281	32	20	Public	RWA	Balihari Kudrat Vysa Club Reg.
19	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Guru Hargobind Nagar, near Doctor Mahindra	Not Tracable Yet. Forwarded to Revenue Department	42.68 x 29.88	1275	82	16	Public	Govt.	N/A
20	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Guru Hargobind Nagar near Virak Hospital	Not Tracable Yet. Forwarded to Revenue Department	39.63 x 36.59	1450	115	25	Public	RWA	Guru Hargobing Nagar Welfare Society
21	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Guru Hargobind Nagar, near Kamal Nehru School	Not Tracable Yet. Forwarded to Revenue Department	53.35 x 30.49	1627	260	20	Public	RWA	Guru Hargobing Nagar Welfare Society
22	Kapurthala	Phagwara	Local Government		Guru Hargobind Nagar near Blood Bank	Not Tracable Yet. Forwarded to Revenue Department	60.98 x 45.73	2789	103	28	Public	RWA	Balihari Kudrat Vysa Club Reg.
23	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Dr. B.R. Ambedkar Park, Hargobind Nagar	Not Tracable Yet. Forwarded to Revenue Department	14.33 x 19.21	275	50	6	Public	Govt.	N/A
24	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Hargobind Nagar Vermani Park	Not Tracable Yet. Forwarded to Revenue Department	57.16 x 19.97	1142	120	43	Public	RWA	Guru Hargobing Nagar Welfare Society
25	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Hargobind Nagar, Tubewell Walli Park	Not Tracable Yet. Forwarded to Revenue Department	26.37 x 31.25	824	40	32	Public	Govt.	N/A
26	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Jasveer Hospital Back Side Park	Not Tracable Yet. Forwarded to Revenue Department	38.72 x 12.2	472	35	0	Public	Other	Naresh Bhardwaj PMC
27	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Indra Nagar Park Ward No: 19	Not Tracable Yet. Forwarded to Revenue Department	22.56 x 22.56	509	25	1	Public	RWA	New mandi Welfare Committee
28	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Indra Nagar Park Motor Wali Park Ward No: 19	Not Tracable Yet. Forwarded to Revenue Department	18.9 x 18.9	357	35	18	Public	RWA	New mandi Welfare Committee
29	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Indra Nagar Park near Former MC Manmohan Sharma	Not Tracable Yet. Forwarded to Revenue Department	25.3 x 6.1	154	23	11	Public	RWA	New mandi Welfare Committee
30	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Park near Sondhi Gas Service	Not Tracable Yet. Forwarded to Revenue Department	45.12 x 9.76	440	26	8	Public	RWA	New mandi Welfare Committee
31	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Bhagatpura Tubewell Park	Not Tracable Yet. Forwarded to Revenue Department	35.98 x 15.85	570	50	7	Public	Govt.	N/A

	Del-1/0) Engage hours Day	ta ila			To get entire information up	loaded on	the websites osite of Municipal Body	Position of Per Capita	Status of	Suggestions for remedial
	Point (C) Encroachment De	tails	100	on Web	site of District Administration	on wei	osite of Municipal Body	Green Cover	Adequacy	measures required to be taken for proper use, development,
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	if No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded			maintenance, protection and improvement of such green areas/parks /green belts
No Encroachment done	N/A	N/A	N/A	NIL	No	Tay Tayan S	No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	. N/A	NIL	No		. No				
No Encroachment done	N/A	N/A	N/A	NIL S	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Asset Market State	No				
No Encroachment done	N/A	N/A	N/A	NIL	No	The second secon	No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
o Encroachment done	N/A	N/A	N/A	NIL	No		No				
o Encroachment done	N/A	N/A	N/A	NIL	No		No				

Dyg.

Sr.	District	City	Department	Name of Municipal Body							Point (B)	Present Status	
No.					Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present regard Plantation Con	ding n/ Green	User	Maintenance done by Govt./RWA/ other	Agency Deputed for Maintenance
			200				*		No. of Shrubs	No. of Trees			N/A
32	Kapurthala	Phagwara	Local Government	Municipal Corporation	Regency Town Park No:1 Shani Mandir Wali	Not Tracable Yet. Forwarded to Revenue Department	17.68 x 86.28	1526	28	48	Public	Govt.	N/A
33	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Regency Town Park No:2 Basketball Ground	Not Tracable Yet. Forwarded to Revenue Department	96.95 x 21.34	2069	0	10	Public	Govt.	N/A
34	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Greater Kailash Park No:135	Not Tracable Yet. Forwarded to Revenue Department	33.54 x 21.34	716	0	25	Public	RWA	Greater Kailash Welfare Association
35	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Greater Kailash Park No:85	Not Tracable Yet. Forwarded to Revenue Department	37.2 x 29.27	1089	50	11	Public	RWA	Greater Kailash Welfare Association
36	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Swaraj Enclave Park No:1, Near House No:37	Not Tracable Yet. Forwarded to Revenue Department	21.65 x 45.73	990	28	31	Public	RWA	Savraj Enclave Welfare Society
37	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Swaraj Enclave Park No: 2, Near House No: 40	Not Tracable Yet. Forwarded to Revenue Department	44.82 x 14.63	656	75	37	Public	RWA	Savraj Enclave Welfare Society
38	Kapurthala	Phagwara	Local Government	Corporation	Baba Gadhian Tanki wala Park Ward No: 10	Not Tracable Yet. Forwarded to Revenue Department	36.89 x 81.71	3014	250	60	Public	RWA	Balihari Kudrat Vysa Club Reg.
39	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Baba Gadhiyan Guru Ravidas Park Ward No: 10	Not Tracable Yet. Forwarded to Revenue Department	45.73 x 9.15	418	19	21	Public	Govt.	N/A
40	Kapurthala	Phagwara	Local Government	Corporation	Dr. Ambedkar Park, Palahi Gate Ward No: 10	Not Tracable Yet. Forwarded to Revenue Department	16.04 x 40.7	653	63	71	Public	RWA	Balihari Kudrat Vysa Club Reg.
41	Kapurthala	Phagwara	Local Government	Corporation	Khalwara Gate Park Ward No: 10	Not Tracable Yet. Forwarded to Revenue Department	32.93 x 12.8	422	4	5	Public	RWA	Balihari Kudrat Vysa Club Reg.
42	Kapurthala	Phagwara	Local Government	Corporation	Palahi Gate Tubewell wala Park	Not Tracable Yet. Forwarded to Revenue Department	35.98 x 52.44	1887	2	9	Public	Govt.	N/A
43	Kapurthala	Phagwara	Local Government	Corporation	Baba Gadhia, Shivan Ji Park Ward No: 5	Not Tracable Yet. Forwarded to Revenue Department	45.73 x 62.8	2872	30	16	Public	RWA	Balihari Kudrat Vysa Club Reg.
44	Kapurthala	Phagwara	Local Government	Corporation	Sahibzada Ajit Singh Nagar Park Ward No: 5	Not Tracable Yet. Forwarded to Revenue Department	28.35 x 32.01	. 908	0	4	Public	Govt.	N/A
45	Kapurthala	Phagwara	Local Government	Corporation	Guru Hargobind Singh Sahib Park, Sukhchan Nagar Road Ward No. 7	Not Tracable Yet. Forwarded to Revenue Department	54.88 x 48.78	2677	0	3	Public	Govt.	N/A
46	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	Guru Harkrishna Nagar Varindra Park	Not Tracable Yet. Forwarded to Revenue Department	114.02 x 21.95	2503	175	106	Public	RWA	Varinder Park Welfare Society
47	Kapurthala	Phagwara	Local Government		Guru Harkrishna Nagar, Kandya de Jathere Park	Not Tracable Yet. Forwarded to Revenue Department	14.02 x 39.94	560	8	19	Public	RWA	Balihari Kudrat Vysa Club Reg.

.

							anded on	the websites	Position of	Status of	Suggestions for remedial
						To get entire information up	on Wet	site of Municipal Body	Per Capita	Adequacy	measures required to be taken for proper use, development,
	1.0		-11-		on Web	site of District Administration	0		Green Cover		maintenance, protection and
	Point (C) Encroachment Det	alis			i sand time	If Yes,	If No, Reson therof and	10 A 1986		improvement of such green
Encroachment Done By	When Encroachment was Done	in what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	if Yes, Share Link	If No, Reson therof and time till which information will be uploaded	Share Link	time till which information will be uploaded			areas/parks /green belts
of the Application			Passa Mayor				No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Francisco de Francisco					
No Encroachment done	N/A	N/A	N/A	NIL	No	To see all in 1999 to	No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Francisco de la Companya de la Compa	No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Part of the part of the	No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Section of Section 1992	No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No			Maria	
No Encroachment done	N/A	N/A	N/A	NIL	No		No			1111	
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No	Part of the second	No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No			1	

r. o.	District	City	Department	Name of Municipal Body	2104-20	Here has been a	APP APP	Carried Section 1	a three	7.1.3	Point (B)	Present Status	
			i salar sa		Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present regard Plantation Cov	ding n/ Green	User	Maintenance done by Govt/RWA/ other	Agency Deputed for Maintenance
									No. of Shrubs	No. of Trees		4	
8	Kapurthala	Phagwara	Local Government	Municipal Corporation	Professor ClonyTubewell wala Park, Banga Road	Not Tracable Yet. Forwarded to Revenue	15.24 x 9.15	139	0	4	Public	Govt.	N/A
19	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Scheme No: 3 Shaheed Udham Singh Park	Department Not Tracable Yet. Forwarded to Revenue	17.68 x 21.95	388	4	20	Public	RWA	SBS Nagar welfar society
50	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Scheme No: 3 Shaheed Bhagat Singh Park	Department Not Tracable Yet. Forwarded to Revenue	32.77 x 66.31	2173	62	30	Public	RWA	SBS Nagar welfard society
51	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Scheme No: 3 Shaheed Sukhdev Singh Park	Department Not Tracable Yet. Forwarded to Revenue	38.41 x 48.02	1845	32	5	Public	RWA	SBS Nagar welfan
52	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Scheme No:3 Lala Lajpat Rai Park	Department Not Tracable Yet. Forwarded to Revenue	41.77 x 41.77	1745	121	61	Public	RWA	SBS Nagar welfare society
	Kasudhala	Phagwara	Local Government	Phagwara Municipal	Scheme No: 3 Opposite Jain	Department Not Tracable Yet.	19.82 x 22.26	441	40	6	Public	RWA	SBS Nagar welfar society
53	Kapurthala	Pilaywala		Corporation Phagwara	School Scheme No: 3 Palahi Road	Forwarded to Revenue Department Not Tracable Yet.	11.89 x 26.52	315	270	5	Public	RWA	SBS Nagar welfar
54	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Tubewell Wala Park	Forwarded to Revenue Department	15.4.50.70	782	190	14	Public	Govt.	N/A
55	Kapurthala	Phagwara	Local Government	Municipal Corporation	Park near Civil Hospital, Chahal Nagar	Not Tracable Yet. Forwarded to Revenue Department	15.4 x 50.76		-		Public	RWA	Swami Vivekanar
56	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Chahal Nagar, Swami Vivekananda Park	Not Tracable Yet. Forwarded to Revenue	40.55 x 20.73	841	70	17			Welfare Society
57	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Chahal Nagar, Near Rinku Residence	Department Not Tracable Yet. Forwarded to Revenue	61.89 x 41.77	2585	0	0	Public	Govt.	
58	Kapurthala	Phagwara	Local Government	Phagwara Municipal	Chahal Nagar Park near Sood Children's Hospital	Department Not Tracable Yet. Forwarded to Revenue	49.39 x 41.16	2033	260	31	Public	Govt.	N/A
	Manually alo	Phagwara	Local Government	Corporation Phagwara Municipal	Green Park, Ward No: 4	Department Not Tracable Yet.	45.73 x 36.59	1673	60	20	Public	Govt.	N/A
59	Kapurthala	Pilagwaia	A. James	Corporation Phagwara	Park Ward No: 4 with disposal and	Forwarded to Revenue Department Not Tracable Yet.	54.88 x 36.59	2008	0	0	Public	Govt.	N/A
60	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	tubewell	Forwarded to Revenue Department Not Tracable Yet.	22.87 x 24.39	558	0	3	Public	Govt.	N/A
61	Kapurthala	Phagwara	Local Governmen		Park, Near Tarlochan S.D.O. (P.S.E.B.)	Forwarded to Revenue Department		544	3	12	Public	Govt.	N/A
62	Kapurthala	Phagwara	Local Governmen	t Municipal Corporation	Guru Teg Bahadur Nagar Park Tibbi	Not Tracable Yet. Forwarded to Revenue Department	27.44 x 19.82	- Care	11	40	Public	Govt.	N/A
63	Kapurthala	Phagwara	Local Governmen	Phagwara Municipal Corporation	Dr. Clowney Park, Nakodar Road		60.98 x 18.29	1115	121	1	, 45.10		

						To get entire information upl	oaded on	the websites	Position of	Adequacy	Suggestions for remedial measures required to be take
					on Moh	site of District Administration	on Web	site of Municipal Body	Per Capita Green Cover	Adequacy	for proper use, development
	Point (C) Encroachment Det	ails		Ou wen	Site of District American			Green Cover		maintenance, protection and
		5			10.1/	If No, Reson therof and time	If Yes,	If No, Reson therof and	The second second		improvement of such green
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	till which information will be uploaded	Share Link	time till which information will be uploaded			areas/parks /green belts
	· ·	أرام والمور					No				
lo Encroachment done	N/A	N/A	N/A	NIL	No						
No Encroachment done	N/A	N/A	N/A	NIL	No	100	No				
No Encroachment	N/A	N/A	N/A	NIL	No		No				
done No Encroachment	N/A	N/A	N/A	NIL	No		No				
done No Encroachment	N/A	N/A	N/A	NIL	No	Township to Page 19.	No				
done No Encroachment	N/A	N/A	N/A	NIL	No	The second secon	No				
done No Encroachment	N/A	N/A	N/A	NIL	No		No				
done				NIL	No	Althornel Silverson)	No				
No Encroachment done	N/A	N/A	N/A	ned red	75		No				
No Encroachment done	N/A	N/A	N/A	NIL	No	To the second of the second					
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No	And the state of the	No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				7,00
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				

by

			*				Table tallers of but to	John China Control of the last				Present Status	Demutod
_		City	Department	Name of	The second secon	A Designation of the last of t	The section of		Present	Status	User	Maintenance	Agency Deputed for Maintenance
	District	City		Municipal Body		Number	Boundaries	Measurement	regard	ling		done by	101 Mainte
		127			Name of Park & Location	Revenue Number	(Dimensions	(In Sq.Mtr)	Plantation	/ Green		Govt./RWA/	
1				1	Name of Faix & 2000		In Mtr)		Cov			other	
1	and the	1,700		3534478 14		The second second		A SECOND POR					
1	e sa Nif	1	Section 1	1									
- 1		replacement of			Sec. 3 - 199			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	No. of	No. of	40		
1	Control of the		Land State of the	the second second					Shrubs	Trees			NI/A
1			Section 15 to 15 t							20	Public	Govt.	N/A
1			1 1			- LI- Vot	19.97 x 39.79	795	17	20			The state of the s
- 1	1		,	Na mining!	Raja Garden Colony Park		10.07						1111
4	Kapurthala	Phagwara	Local Government	Municipal	(10,0	Forwarded to Revenue		N. L. P. C. L. St.	-	9	Public	Govt.	N/A
4	Kapuitilala			Corporation		Department	33.54 x 18.29	613	0		,		
- 1	PAR I			Phagwara	Shaheed Udham Singh Nagar	NOL Hacable 1941	00.072						
55	Kapurthala	Phagwara	Local Government	Municipal Corporation	Park Nakodar Road	Forwarded to Revenue			100	64	Public	RWA	Dr. BR Ambedka
,5	, capair			Phagwara		Department Vet	84.15 x 62.8	5285	190	04	I ubiie		Welfare Society
			10	Municipal	Dr. BR Ambedkar Park Nakodar	Not Tracable Yet.					100		
66	Kapurthala	Phagwara	Local Government	Corporation	Road	Forwarded to Revenue			-	80	Public	Govt.	N/A
				Phagwara		Department Not Tracable Yet.	117.68 x 16.46	1937	0	80	Fublic		
	U		Local Government	Municipal	Park Bakshish Enclave Hadiabad	Forwarded to Revenue					15 (194)		
67	Kapurthala	Phagwara	Local Government	Corporation		Department				-	Public	Govt.	N/A
				Phagwara		Not Tracable Yet.	39.63 x 46.34	1837	0	2	Public		
-			Local Government	Municipal	Mansa Devi Nagar Park Tube	Forwarded to Revenue			1				
68	Kapurthala	Phagwara	Lucai Covernino	Corporation	Well Opposite Maha Lakshmi	Department			- 10	40	Public	RWA	Balihari Kudrat
	1000			Phagwara	Property Advisor	Not Tracable Yet.	28.66 x 58.08	1664	49	48	Public	L L	Vysya Club Regd
	1/ 1/ 1/2	Phagwara	Local Government		Atal Bihari Vajpayee Park T.P.	Forwarded to Revenue				200			
69	Kapurthala	Pliagwaia	Local Serial	Corporation	Scheme No: 5 Hadiabad	Department				27	Public	Govt.	N/A
	the state of			Phagwara	(1 i at) Nekodor	Not Tracable Yet.	21.95 x 27.13	596	3	37	Public	OOV.	
70	Kapurthala	Phagwara	Local Government	Municipal	Park near (octori post), Nakodar	Forwarded to Revenue							
70	Napululaia	i nagira.		Corporation	Road Seva Kendar	Department				54	Public	Govt.	N/A
	1			Phagwara	Hadiabad Manav Nagar Tube	Not Tracable Yet.	46.34 x 42.07	1950	125	54	Public	00	
71	Kapurthala	Phagwara	Local Government		Well Park	Forwarded to Revenue			100	1.00	The same		
				Corporation	VVeii Faik	Department	10 m 10 kg		70	47	Public	RWA	Balihari Kudrat
			A Visit of the second	Phagwara	Pandit Dindayal Upadhyay Park,	Not Tracable Yet.	75.76 x 25.76	1952	79	41	Fublic		Vysya Club Rego
72	Kapurthala	Phagwara	Local Government		Manay Nagar, Hadiabad	Forwarded to Revenue	F-12-46 (12)	10 5 4 10		1	15		
				Corporation	Wallav Hagai, Hamma	Department			90	82	Public	RWA	Adarsh nagar
			10	Phagwara Municipal	Tanki wala Park Adarsh Nagar	Not Tracable Yet.	32.01 x 61.59	1971	90	02	Laplic	1	welfare society
73	Kapurthala	Phagwara	Local Government	Corporation	Tania wala tani	Forwarded to Revenue							A STATE OF THE STA
				Phagwara		Department	- Part 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	1507	425	39	Public	RWA	Adarsh nagar
	16	Ohanus	Local Government		Contractor Karam Singh Park	Not Tracable Yet.	30.79 x 51.52	1587	135	33	1 abile	4 1 2	welfare society
74	Kapurthala	Phagwara	Local Government	Corporation	Adarsh Nagar	Forwarded to Revenue				100			
	Marin I		The same	Phagwara	1 2 / ///////////////////////////////	Department		0707	165	53	Public	RWA	Satnampura Par
75	Kapurthala	Phagwara	Local Governmen		Satnampuran Lane No: 3 Kundi	Not Tracable Yet.	34.15 x 79.27	2707	165	33	Lapic		welfare society
10	Kapuitilala	rnaywara	Local Governmen	Corporation	Wali Park	Forwarded to Revenue							
	100 to 1			Phagwara		Department		000	0	8	Public	Govt.	N/A
76	Kapurthala	Phagwara	Local Governmen		Raulan Walan Khuh Park,	Not Tracable Yet.	8.23 x 25	206	, ,	l °	, abile		
				Corporation	Satnampuran	Forwarded to Revenue	Light street		24.49				
				Phagwara		Department	45.05 45.05	251	0	0	Public	Govt.	N/A
77	Kapurthala	Phagwara	Local Governmen		Asha Park, Palahi Road	Not Tracable Yet.	15.85 x 15.85	251	1 0	1			
			1	Corporation	All the same of the same of the	Forwarded to Revenue					1		
	- 1 TeV			Phagwara		Department	40.0 467.07	818	6	1	Public	Govt.	N/A
78	Kapurthala	Phagwara	Local Governmen		Park Back Side, K.G.Resort	Not Tracable Yet.	12.2 x 67.07	010	"			1-37	
	1900		A second of	Corporation		Forwarded to Revenue			e e led w				
			1 1 1 1 1	Phagwara	5 1 0 11 11	Department Net Tranship Vet	32.93 x 13.11	432	0	14	Public	Govt.	N/A
79	Kapurthala	Phagwara	Local Governmen		Park Guru Nanak Avenue,	Not Tracable Yet. Forwarded to Revenue	The second of the second of					100	Lister Hill
	100		1. 1. 1. 1. 1.	Corporation	Hoshiarpur Road	Department			180	4		1	
	•		-	Phagwara									

						To get entire information upl	oaded on t	he websites	Position of Per Capita	Status of Adequacy	Suggestions for remedial measures required to be taken
	Point /C	'I Engraphy and D.			141.1	site of District Administration	on Web	site of Municipal Body	Green Cover	Auequacy	for proper use, development,
	Point (C) Encroachment Det	tails		on Web	site of District Administra			Green Cover		maintenance, protection and
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded			improvement of such green areas/parks /green belts
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
o Encroachment done	N/A	N/A	N/A	NIL	No		No				
o Encroachment done	N/A	N/A	N/A	NIL	No	Testas Santa	No				
o Encroachment done	N/A	N/A	N/A	NIL	No	Francisco de la composición	No				
Encroachment done	N/A	N/A	N/A	NIL	No	The Court of	No				
Encroachment done	N/A	N/A	N/A	NIL	No		No				
Encroachment done	N/A	N/A	N/A	NIL	No	Surface Surfac	No				
Encroachment done	N/A	N/A	N/A	NIL	No		No				
Encroachment done	N/A	N/A	N/A	NIL	No		No				
Encroachment done	N/A	N/A	N/A	NIL	No .		No				
Encroachment done	N/A	N/A	N/A	NIL	No	Part of the second	No				
Encroachment done	N/A	N/A	N/A	NIL	No		No				
Encroachment done	N/A	N/A	N/A	NIL	No		No			1	

Dal Dal

_		
\circ	-	_

	T mt. 4-4-4	City	Department	Name of	The Samuel of th	and the entertaint	published and the		1			Present Status	
Sr. No.	District	City	, 21	Municipal Body	Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present regard Plantation Con	ding n/ Green	User	Maintenance done by Govt./RWA/ other	Agency Deputed for Maintenance
		lax.							No. of Shrubs	No. of Trees	2.45	Govt.	N/A
80	Kapurthala	Phagwara	Local Government	Municipal Corporation	Park Near Ashirwad Hospital, Chahal Nagar	Not Tracable Yet. Forwarded to Revenue	82.32 x 42.68	3514	0	22	Public		
	Kapurthala	Phagwara	Local Government	Phagwara Municipal	Park Mohalla Pipa Rangi Ward No:24	Department Not Tracable Yet. Forwarded to Revenue	53.35 x 42.68	2277	100	20	Public	Govt.	N/A
82	ed.e	Phagwara	Local Government	Corporation Phagwara Municipal	Tubewell Wala Park Ward No:24,	Department Not Tracable Yet. Forwarded to Revenue	53.35 x 27.44	1464	0	24	Public	Govt.	N/A
	pa 56 1	Phagwara	Local Government	Corporation Phagwara Municipal	Pipa Rangi Dr. BR Ambedkar Park, Khothra	Department Not Tracable Yet.	45.73 x 60.98	2789	0	12	Public	Govt.	N/A
	Kapurthala	0 1		Corporation Phagwara Municipal	Road Park Near Gobindpura Ward No:	Forwarded to Revenue Department Not Tracable Yet.	41.16 x 18.29	753	0	0	Public	Govt.	N/A
84	Kapurthala	Phagwara	Local Government	Corporation Phagwara	41	Forwarded to Revenue Department Not Tracable Yet.	25.76 x 43.08	1110	0	8	Public	Govt.	N/A
35	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Park Main Road, Basant Nagar	Forwarded to Revenue Department			160	54	Public	RWA	Park maintenance
36	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Urban Estate Park Opposite House No: 205-218	Not Tracable Yet. Forwarded to Revenue Department	50 x 56.71	2835		- Poli-			and development committee
37	Kapurthala	Phagwara	Local Government	Municipal Corporation	Urban Estate Pump Wali Park opposite House No:345C Park	Not Tracable Yet. Forwarded to Revenue Department	71.34 x 10.37	740	0	20	Public	Govt.	N/A
8	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Back Side Raja Sodhi Urban Estate Park Opposite House No: 572-578, 586-571	Not Tracable Yet. Forwarded to Revenue	21.65 x 44.82	970	72	14	Public	Govt.	N/A
9	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park Opposite Mehmi Residence House No: 521-	Department Not Tracable Yet. Forwarded to Revenue	21.19 x 57.93	1227	21	8	Public	Govt.	N/A
0	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	526 Urban Estate Park Opposite House No:12-17,4	Department Not Tracable Yet. Forwarded to Revenue Department	7.01 x 36.59	257	0	4	Public	Govt.	N/A
1	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Urban Estate Park Opposite House No:116-125 Near Som Prakash Residence	Not Tracable Yet. Forwarded to Revenue Department	80.79 x 34.45	2783	137	60	Public	RWA	Dashmesh Park welfare society
2	Kapurthala	Phagwara	Local Government	Municipal Corporation Phagwara	Urban Estate Park opposite House No: 903-904, 871, 1018	Not Tracable Yet. Forwarded to Revenue Department	10.06 x 70.12	705	2	11	Public	Govt.	N/A
1	Kapurthala	Phagwara	Local Government	Municipal Corporation	Urban Estate Park Opposite House No: 948-957	Not Tracable Yet. Forwarded to Revenue Department	72.26 x 49.7	3591	135	85	Public	RWA	The Urban Estate Park maintenance Society
1	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park Opposite opposite House No: 460 Malla	Not Tracable Yet. Forwarded to Revenue	8.84 x 54.88	485	0	3	Public	Govt.	N/A
5	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	Residence Urban Estate Park Opposite House No: 409-421, 416, 451 Bhalla Residence	Department Not Tracable Yet. Forwarded to Revenue Department	20.58 x 118.9	2447	112	62	Public	RWA	New Park maintenance committee

						To get entire information up	oaded on	the websites	Position of	Status of	Suggestions for remedial measures required to be taken	
	Point (C) Encroachment De	tails		on Web	site of District Administration	on Wel	osite of Municipal Body	Per Capita Green Cover	Adequacy	for proper use, development maintenance, protection an	
Encroachment Done By	When Encroachment was Done	in what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded			improvement of such green areas/parks /green belts	
No Encroachment done	N/A	N/A	N/A	NIL	No		No					
No Encroachment done	N/A	N/A	N/A	NIL	No		No					
No Encroachment done	N/A	N/A	N/A	NIL	No		No					
lo Encroachment done	N/A	N/A	N/A	NIL	No	Surface School	No					
lo Encroachment done	N/A	N/A	N/A	NIL	No		No					
No Encroachment done	N/A	N/A	N/A	NIL	No		No		-			
lo Encroachment done	N/A	N/A	N/A	NIL	No		No					
lo Encroachment done	N/A	N/A	N/A	NIL	No		No					
lo Encroachment done	N/A	N/A	N/A	NIL	No		No					
o Encroachment done	N/A	N/A	N/A	NIL	No		No					
Encroachment done	N/A	N/A	N/A	NIL	No		No					
Encroachment done	N/A	N/A	N/A	NIL	No		No			1050Y		
Encroachment done	N/A	N/A	N/A	NIL .	No		No					
Encroachment done	N/A	N/A	N/A	NIL	No		No					
Encroachment done	N/A	N/A	N/A	NIL	No		No					
Encroachment done	N/A	N/A	N/A	NIL	No		No					

6-	District	City	Department	Name of			In the second					Present Status	part Library
Sr. No.	District	City		Municipal Body		Revenue Number	Boundaries	Measurement	Present		User	Maintenance done by	Agency Deputed for Maintenance
			The same		Name of Park & Location	Karema	(Dimensions In Mtr)	(In Sq.Mtr)	Plantatio			Govt/RWA/ other	
									No. of Shrubs	No. of Trees			2 1
96	Kapurthala	Phagwara	Local Government	Municipal	Urban Estate Park near House No: 654, 661	Not Tracable Yet. Forwarded to Revenue	12.8 x 82.32	1054	77	22	Public	RWA	Park maintenance and development committee
	1 2 .			Corporation Phagwara Municipal	Police Station Park Urban Estate	Department Not Tracable Yet.	94.36 x 26.52	2503	10	29	Public	Govt.	N/A
97	Kapurthala	Phagwara	Local Government	Corporation Phagwara	Park	Forwarded to Revenue Department	17.01	1859	0	61	Public	Govt.	N/A
98	Kapurthala	Phagwara	Local Government	Municipal Corporation	Urban Estate Park near CRP Colony Near Balbir Thakur	Not Tracable Yet. Forwarded to Revenue	121.95 x 15.24	1639			1		30-11-
99	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park Near CRP Colony Near House No: 879	Department Not Tracable Yet. Forwarded to Revenue	54.88 x 18.29	1004	0	21	Public	Govt.	N/A
100	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park Near CRP Colony Near House No: 668-669	Department Not Tracable Yet. Forwarded to Revenue	22.87 x 10.67	244	0	9	Public	Govt.	N/A
101	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park CRP Colony (HanumanTemple Park)	Department Not Tracable Yet. Forwarded to Revenue	137.2 x 11.59	1589	30	67	Public	Govt.	N/A
102	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park CRP Colony House No: 443 Triangle Park	Department Not Tracable Yet. Forwarded to Revenue	15.24 x 10.67	163	0	4	Public	Govt.	N/A
103	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park CRP Colony House No: 695	Department Not Tracable Yet. Forwarded to Revenue	13.72 x 10.67	146	0	18	Public	Govt.	N/A
04	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Estate Park CRP Colony House No: 682	Department Not Tracable Yet. Forwarded to Revenue	22.87 x 18.29	418	0	4	Public	Govt.	N/A
05	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	New Mansa Devi Nagar Trikoni Park	Department Not Tracable Yet. Forwarded to Revenue	25.91 x 7.62	198	3	15	Public	Govt.	N/A
06	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Industrial Area Park Near Sondhi Gas Agency	Department Not Tracable Yet. Forwarded to Revenue	7.62 x 4.57	35	12	0	Public	Govt.	N/A
)7	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Avenue Park near House No: 12 Rakesh Ohri	Department Not Tracable Yet. Forwarded to Revenue	58.08 x 14.02	815	76	20	Public	Govt.	N/A
8	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Urban Avenue Park near House No : 39-40	Department Not Tracable Yet. Forwarded to Revenue	48.93 x 13.72	671	35	5.	Public	Govt.	N/A
9	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Pritam Nagar Park	Not Tracable Yet. Forwarded to Revenue	36.59 x 13.72	502	10	0	Public	Govt.	N/A
0	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation	Model Town Park near Gurdwara Sahib	Department Not Tracable Yet. Forwarded to Revenue Department	23.02 x 152.59	3512	175	65	Public	RWA	Vikas Prishad Society
1	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	Model Town Park near Round Market	Not Tracable Yet. Forwarded to Revenue Department	32.01 x 12.2	390	15	3	Public	RWA	Goal Market welfare Committee

					To get entire information up	loaded on	the websites	Position of	Status of	Suggestions for remedial	
Point (C) Encroachment Do		tails		on Web	site of District Administration	on Wel	bsite of Municipal Body	Per Capita Green Cover	Adequacy	measures required to be taken for proper use, development, maintenance, protection and	
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	Control of the		improvement of such green areas/parks /green belts
							No				
No Encroachment done	N/A	N/A	N/A	NIL	No		77.180				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL .	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	. NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No		No				
lo Encroachment done	N/A	N/A	N/A	NIL	No	1	No				

Sr.	District	City	Department	Name of Municipal Body			HEHE				Point (B) Present Status	
No.	lo.				Name of Park & Location	Revenue Number	Boundaries (Dimensions In Mtr)	Measurement (In Sq.Mtr)	Present Status regarding Plantation/ Green Cover		User	Maintenance done by Govt./RWA/ other	Agency Deputed for Maintenance
									No. of Shrubs	No. of Trees			
112	Kapurthala	Phagwara	Local Government	Corporation	Chahal Nagar S. Indersingh Basra Park near Mortuary	Not Tracable Yet. Forwarded to Revenue Department	82.01 x 27.44	2250	6	13	Public	Govt.	N/A
113	Kapurthala	Phagwara	Local Government	Phagwara Municipal Corporation Phagwara	Chahal Nagar Park near House No. 24B Sahadev Residence	Not Tracable Yet. Forwarded to Revenue Department	46.83 x 15.85	742	12	2	Public	Govi.	IVA

as July

						To get entire information up	loaded on	Position of	Status of	Currentia de la lice	
Point (C) Encroachment Details						site of District Administration		bsite of Municipal Body	Per Capita Green Cover	Adequacy	Suggestions for remedial measures required to be take
Encroachment Done By	When Encroachment was Done	In what manner encroachment is done	Action taken/to be taken for removal of such encroachment	Court Case Status (If any)	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded	If Yes, Share Link	If No, Reson therof and time till which information will be uploaded			for proper use, development, maintenance, protection and improvement of such green areas/parks /green belts
No Encroachment done	N/A	N/A	N/A	NIL	No		No				
No Encroachment done	N/A	N/A	N/A	NIL	No		No				

23/4/2